SAMPLE TEST PAPER FOR THE POST OF JR. CIL ERK (EXAM CODE 122)

Please study and prepare for the subjects applicable to the test you are appearing,
find out the subjects from the “Instructions to Candidate.”

(O.No. 001 to 040) Numerical and Mathematical Ability

001. 1/0.04 is equal to
a. 1740 b. 2/5 b. 572 d. 25

002. The sum of 15% of a particular number and 1026 of the same number
is 70. What is the twice of that number?

a. 560 b. 280 c. 440 d. 140

003. In the following number series only one number is wrong. Find out
the wrong number.

6, 9, 15, 21, 24, 28, 30
a. 21 b. 24 c. 28 d. 9

004. The average monthly income of A and B is Rs. 14000, that of B and C
is Rs. 15600 and A and C is Rs. 14400. The monthly income of C is:

a. Rs. 16000 b. Rs. 15000 c. Rs. 14000 d. Rs. 15500

005. The ratio of two numbers is 3:8 and their difference is 115. The
smaller of the two numbers is:

a. 184 b. 194 c. 69 d. 59

(Q. No. 041 to 060) English Language and Grammar

(041 — 043)In each of the following questions, find the correctly spelt
word.

041. a. Recommandation b. Recammandation

c. Recomandation d. Recommendation
042. a. Surveilance b. Surveillance

c. Survellance d. Survaillance
043. a. Gaurantee b. Garuntee

c. Guarantee d. Guaruntee

Directions (Q. No. 044 to 045) Out of four alternatives, pick out the most
effective word to fill in the blank to make the sentence meaningfully
complete.



044. Shraddha is a singer. She sings

a. beautiful b. beautifully c. beauty d. beautifulness
045. After breakfast, Sylvie arrived and took Emily and Jonathan

out to see mares?

a. No article required, the b. a, a

c. the, an d. a, none of these

(Q. No. 061 to 080) Computer and Co-operation Awareness

061. MS Word is an example of

TATH T8 § T 3EEI0T TR,
a. an operating system b. a processing device
c. application software d. an input device

062. Which of these is pointing and draw device?

a. Mouse b. Scanner
c. Printer d. Keyboard
063. By default your documents print in mode.
qAY SFAYES 917 fBwiee AlALY B9 ATAT.
a. Landscape b. Portrait
c. Page Setup d. Print View

064. Which of the following is not one of the features of Co-operative
societies?

FTellerddh! HI0TT FghRT FEATT AT A1Er?

a. Voluntary membership b. Legal Status
c. Limited liability d. Profit Orientation

065. Who has limited liability in the Co-operative society?
TEHR! TEIACY o #FAifea gfica 3m?

a. Mananging Committee b.Registrar
c. Members d. Secretary

(Q. No. 081 to 100) Reasoning Talent

081. ZA2, YB4, XC8, WD16, ?

a. Ev32 b. VE32
c. TU32 d. UT32



082. Tanya is older than Eric. Cliff is older than Tanya. Eric is older than
Cliff. If the first two statements are true, then third statement is ?

arfer eREdeT aa=r A 3. Faw arfaamda Aer e, oRe Fawdam aa=r Aver
R, I gfgel a9 Rue a7 3vdiea X AW @y s 3wda?

a. TRUE b. UNCERTAIN
c. FALSE d. CANNOT DETERMINE

083. Arrange the words in accurate sequence.
AsCT IGF FAA AN F.
1.Word, 2.Paragraph, 3.Sentence, 4.Letters, 5.Phrase
a. 4,1,5,2,3 b. 4,1,3,5,2
c.4,2,5,1,3 d.4,1,5,3,2

084. A, P, R, X, S and Z are sitting in a row. S and Z are in the centre. A and
P are at the ends. R is sitting to the left of A. Who is to the right of P?

A, P, R, X, S 310l Z t&T 3@ sHAS 3Med. S A0r 7 Feqomai amea. A 3for P
Age=AT ATl AFTAT HRd. R & A TAT SEIHS dHT AR, d¥ P AT IdIHS ST
3me?

a. A b.Z c.S d. X

085. Ramesh ranks 13th in the class of 33 students. There are 5 students
below Suresh rankwise. How many students are there between

Ramesh and Suresh?
33 fagareiear aafd @AY 13 A1 FAFET IHME. AOMEAcaedl FHANT FIAAT Grelt
5 faeamdft sma. av wer anfer ger Freara frcd Rt smeae

a. 12 b. 14 c. 15 d. 16

(O. No. 101 to 120) Banking & General Knowledge

101. Which Prime Minister was also the RBI governer?

Frefterd T Ford gauaT RBI ¥ Iegei ga?

a. Charan Singh b. H. D. Deve Gowda
c. P. V. Narasimha Rao d. Manmohan Singh

102. Which is the first bank established in India?
HRATT TYT9T SATolell gfgel g HIordt 3mg?

a. Bank of Calcutta b. Bank of Hindustan
c. General Bank of India d. State Bank of India



103. What is the number of Rajya Sabha Seats from Maharashtra?
HENTSE TSI AoIRATAT UHOT el SImm 3mea?
a. 17 b. 18 c. 19 d. 20

104. The river Koyna joins the river Krishna at

HIGAT AGT FEOM AT AT Az
a. Satara b. Karad
c. Kolhapur d. Mahabaleshwar

105. What is the largest district in Maharashtra in terms of area?
SATSITAT TIA AGRISCIAIT HaTd AlST fiegT FIordar 3e?

a. Pune b. Ahmednagar
c. Nagpur d. Aurangabad

E



